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1 Introduction

In this contribution we provide the simulation results for alignment purposes for RI test for FR2, based on the agreed simulation assumption from [1] for RI tests as following.
· RI test 
· Test 5.3: FR2 TDD
100MHz&120kHz, 2*2 (aperiodic)
In RAN4#90bis it was agreed to change the SNR requirement from [20]dB to [16]dB for FR2 RI test cases 2 and 3 due to SNR range testability [2]. The previous requirements set for the 1 (gain) values have been tentatively set to the following:

Table 8.4.2.2-2: Minimum requirement (TDD)

	
	Test 1
	Test 2
	Test 3

	1
	N/A
	[1.05]
	[1.05]

	2
	[1.0]
	N/A
	N/A


2 Simulation results
The results are also attached below.

Table 1 Simulation results for RI test FR2 ULA Low MIMO Correlation
	SNR [dB]
	Ericsson

	
	TP ratio (Follow RI/Fixed RI=1)
	TP ratio (Follow RI/Fixed RI=2)

	-6
	0,54
	16,30

	-4
	0,70
	2,23

	-2
	0,97
	1,19

	0
	1,05
	1,10

	2
	1,02
	1,09

	4
	1,03
	1,08

	6
	1,05
	1,09

	8
	1,03
	1,08

	10
	1,07
	1,06

	12
	1,07
	1,02

	14
	1,05
	1,01

	16
	1,06
	1,01

	18
	1,10
	1,02

	20
	1,10
	0,99

	22
	1,14
	1,01

	24
	1,24
	0,99

	26
	1,29
	0,99


Table 2 Simulation results for RI test FR2 XP High MIMO Correlation
	SNR [dB]
	Ericsson

	
	TP ratio (Follow RI/Fixed RI=1)
	TP ratio (Follow RI/Fixed RI=2)

	-6
	0,53
	 

	-4
	0,66
	1,93

	-2
	1,00
	1,25

	0
	1,03
	1,11

	2
	1,04
	1,09

	4
	1,06
	1,06

	6
	1,03
	1,08

	8
	1,00
	1,03

	10
	1,03
	1,01

	12
	1,07
	1,02

	14
	1,04
	1,01

	16
	1,04
	0,99

	18
	1,10
	1,00

	20
	1,15
	1,02

	22
	1,16
	1,00

	24
	1,24
	1,01

	26
	1,28
	0,99


Since the gain was set when the SNR testpoint requirement was set at [20]dB we would like to revise the value for test 2 from [1.05] to [1.03] as well as test 3 from [1.05] to [1.02] at [16]dB SNR testpoint.
Proposal 1: Change the 1 (gain) value for test 2 from [1.05] to [1.03].

Proposal 2: Change the 1 (gain) value for test 3 from [1.05] to [1.02].
3 Conclusions

In this contribution, we provide results based on the agreements made in previous meeting. We propose to include our results for further alignment.
Proposal 1: Change the 1 (gain) value for test 2 from [1.05] to [1.03].

Proposal 2: Change the 1 (gain) value for test 3 from [1.05] to [1.02].
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